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ZENo| B H N B & % BEKRE | VHEE | 2B EE
16 6/5| JUvIT—7 5280 | ER® 5,280
1 4/1|  BEIFIRAENER 1,200 | 148k
2 4/1 HP#f 5 & 6,400 %k
3 4/1| SEEIARR 1,000 | B 5,280 [ 6,021
4 4/1] 4B 5 ERENRI 5620 | ik BA AH
5 4/5|  HvBA—Ivk 901 3 901
6| 4/24 129 4,300 3 4,300
7| 4/28| SBAB4SERENRI 5620 | 1ki&
8| 4/28] TEHARK 2,068 | 1Rk 2,068 40,758 [ 70,092
9 5/1] AABEERK 2,403 3 2,403 Rk LI FH
10 5/1 IN)L 21 1,672 3 1,672
11 5/7 E=-—)L&% 999 Rk 999
12| 5/23| 6 7TA S5 SRENRI 6,080 | fhk
13| 5/27 FIr—k 2,495 3 2,495 49,353
18 7/2 Kig—=K 49,353 i) =] 49,353 [ic] =2|
17 7/15 HEE—=AK 35,011 CicEs3 35,011
14 5/5 SHUHE 3,130 | KM 3,130
15 5/5| INSE—REZE 2,891 AH 2,891
19 4/1 7av—=x 19,377 LI FH 19,377 35,011
20 5/1 7aOv—= 18,590 LI 18,590 Litfs
21 6/1 7Ov—= 21,163 LI 21,163
22 7/1 7AaOv—=x 10,962 LI 10,962
BEt— 206,515 BRE— 206,515




